SRS SiTereh HATHET Uat TTSTeroT aieg, Tei
Model Question Paper (STaEsT I2r U=T)

(2024 - 2025)

MCQ BASED QUESTIONS

(75 frerea-smmaTia w)

Class— 09 Subject — Mathematics F. M. - 40
(DPEII-09) (F=T — 31fUTeT) (uIfab - 40)

TIME- 1 Hour & 30 Minutes
91T : 01 et 30 f3reic

INSTRUCTIONS/f&r :
¢+ There are 40 Multiple Choice Questions.

T 40 ag faFer-srgmia 9= 2 |

¢+ All Questions are compulsory. Each question carries 1 mark.

Teft oIt o ST ARETT g1 T® T3 F o ua s Rgiia 21

Four options are given for each question, choose one of the correct option.

X/
L X4

TAF T o A faheq QU0 g, 390 & U 861 AseT &1 997 FiL

>

% There is no negative marking for any wrong answer. UK
ITAL * o1 IS 3 A1 1S SATU|
1. TXe+6x-2 ¥ X T I0TTH &:-
The coefficient of X in 7x2+6x-2 is-
A 2 B. 6 C.-2 D. 7
2. Mg a9 aATH I H Igug 872
Which of the following are polynomials in one variable?
A 3Vx +xV2 B. Vx+2  C.4%+/3x-7 D. IAH &S A8l
3. X-2x+5 FEIR &:-
A Yg® B. Ga@  C. Framar D. AR AL A-I
X2-2x+5 is polynomial -
A. Linear B. Quadratic C. Cubic D. None of these
4. 992- 982 FT HIT g:-
The value of 992-982 is:-
A 1 B. 187 C. 197 D. 207
5. @3 (1,2),(-2,-3), (2,-3) Faa g:-
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2

~

10.

11.

12.

13.

14.

A, TR e
C. g aqata

Points (1, 2), (-2,-3), (2, -3) lies in :-

A. First quadrant
C. Third quadrant

x-1e7 | &g (-3,5) T T 8-

The distance of the point (-3, 5) from x-axis is:

A. 3 HTTH

@1 U FS 9 [&§g o0 Th FT g g

Any point on the line x =y is of the form:-

A (k -K)

THFLT x+2y= 6 FT A 5:-

The solution of the equation x +2y= 6 is

A (2,2)

T AT LTSl T TATH gIal gi-

A THIT

The slopes of two parallel lines are:-

A. Equal

B. € =ty # g wgr @

D. =q aqata

B. Do not lie in the same quadrant

D. Fourth quadrant

S st it aft SpoITd STa Bf, 3E FEl ST g

A =T

A. Cube

B. A

The rectangle having all sides equal is known as:

B. 4 9= C. 5Hm =%
B. (0, k) C. (k 0)
B. (0,3) C. (6,0
B. FRUTeH rAardt - C.
B. Negative reciprocal C. Zero
C. @
B. Quadrilateral C. Square

g FHIOT ST 180° F AT TAT 360° | FH I, FgdTdT 2.

A, = FHO

B. gfdadt o

The angle which is greater than 180° and less than 360° is called:-

A. Acute angle B. Reflex angle

C. =fae o

C. Obtuse angle

| FHI0T o0 /T FITE, ST 0T TYLH HI0T T 0T 3172

What is the measure of an angle, which is half of its supplementary angle?

A 90°

T FANTET AR g 8-

A EHETT

B. 180°

B. #H1°T

Two congruent figures are:-

A. Unequal

7T AABC=APQR g, 9 PR a3TaY §:-
If AABC= APQR, then PR is equal to :-

A. AC

B. equal

B. BC

C. 60°

C. FATIITT

C. Proportional

D.

D.

D.

(k, k)

T+t (Al

afrerfir a8

Not defined

TATH

Cuboid

oot Fror

Complete angle

120°

TAH F FIT Aal
None of the these
QR
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15.

16.

17.

18.

19.

20.

21.

22,

23.

T T AT & HI 3165 F TIITT H g, AT S FATHST HT GG FIE FHI0 FT AN 3§ -

If the angles of a quadrilateral are in the ratio 3:1:6:5, then the measure of smallest angle is :-

A 90° B. 24° C. 62° D. 18°
T UF FHAE a9t ABCD H £D=125° gI, Al LA FT HT9 g -
In a parallelogram ABCD if £D=125°, then measure of £ A'is -
A. 65° B. 125° C. 55° D. 75°
FT FHTAL FCHST aLaL ST I T U gf THIAL L@TA F S0 [T g1 37 eTRaAl 3T
AT & -

Two parallelograms lie on equal bases and between the same parallel lines. The ratio

of their areas is:-
A 12

A segment is the part between an arc and

A. Centre

B. 11

B. Chord

C. 21

C. Diameter

D. 31

D. fa=ar

D. Radius

I & Teh SAT ahf FTs 8 cm g TIT 39 g0l F=rsaT 5em, T 36 S(AT &l heg & 4 8-

The length of a chord of a circle is 8 cm and the radius of this circle is 5cm, then the distance of

this chord from the centre is :-
A. 3cm

B. 4cm

TG HT HI ........ AT S
A. I R

Angles in a semicircle are at ... angles.

A. Acute angle

B. THHTOT

B. Right angle

C. 10cm

C. srfera FIr

C. Obtuse angle

T2 a, b 3T ¢ T S & T AT 6 4TS &, ql:-

If a, b and c are the lengths of three sides of a triangle, then:-

A.
F 1T T TH{GTTSTH

a+h>c

B. a-b>c

A. I T T AW H aredr g

C. asiTbamMEr

The bisector of the angle
A. Divide the angle in two parts

C. bothaand b

C. a+bh=c

B. I T &7 a¥TaX RN | Afedr §

D. 12cm

D. TuT &IT

D. a-b=c

D. SUUIh H ¥ &I Aal

D. Complete angle

B. Divide the angle in two equal parts
D. none of the above

10 cm ST aTel FHaTg st &1 IR =T ZR?

What will be the perimeter of an equilateral triangle with side 10 cm ?

A.

20 cm

B. 30cm

C. 40cm

D. 35cm
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24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34,

35.

ERA AT H 'S'HTE ?
A BqsEreEwa B, B wEr AR C. B w1 g aRATT D TAH ° IS A8l

What is "S" in Heron's Formula?
A. areaof triangle B. perimeter of triangle C. Semi perimeter of triangle D. None of these

U = & FAT2T 10 cm g T IEHT 9P TSI &% g[IT-

Curved surface area of a cube whose edge is10 cm is:-
A. 40cm? B. 60 cnv C. 400cnm? D. 600 cm?

T AT 100-120 FT a9 =g 2:-
The class mark of the class 100-120 is:-
A. 105 B. 110 C. 115 D. 120

2,3,4,5,0,1,3,3,4,3 T HTA %’:—
The mean of the data 2,3,4,5,0,1,3,3,4,3is:-
A 2 B. 2.2 C. 24 D. 2.8

ATFST 4,6,8,9,11 FT ATEAF &:-
The median of the data: 4,6,8,9,11 is

A 6 B. 8 C. 9 D. 11
U AT AT T ATAHAT gt g

The probability of an impossible event is:-
A 1 B. 0 C. 12 D. 2

T U g 7 &7 A IFYTAT 1T &, A TROMHAT 6l T ST 5
If a coin is tossed twice, then the total number: of outcomes is:-
A. 2 B. 4 C. 3 D. 1

e o foheenT F9rvera TE |1 gR?
Which of the following has terminating decimal expansion?

A 111 B. 9/25 C. 3113 D. TH ¥ FIs A2l

JgIT 3X - 2 FTLAF @
The zero of the polynomial 3x - 2 is
A 2 B. -3 C. 23 D. -2/3

62 + 5x— 6 T TUHET
Factorisation of 6x2 +5x —6 is
A (2x+3)(3x+2) B. (2x+3)(3x -2) C. (2x-3) (3x+2) D.zaH ¥ FIE Tl
Aer® (-2,4) FTTE
The abscissa of coordinate (-2,4) is
A -2 B. 4 C. (4-2) D. THH ¥ &I Aal
7f3 fdg (3,4) iseor 3y =ax + 7 wx Roya g, a7 a FT 919 01T

If the point (3,4) lies on the equation 3y = ax + 7 , then the value of a will be
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36.

37.

38.

39.

40.

A 3/4 B. 3/5 C. 53 D. 3/7

55° T qZa HI0T &

The complementary angle of is 55°

A 25° B. 35° C. 125° D. 135°
=T ABC HAB=BC T 2B=70°g,da £ A TRI&X &

In triangle ABC , AB =BC and 2 B =70°. Then 2 A is equal to
A. 80° B. 40° C. 55° D. 45°
T A 6 A1 R0 75°,90° 3T 75° ¢, AT TEHHT ATAT FHI0T 8-
Three angles of a quadrilateral are 75°, 90° and 75° then the fourth angles is
A. 90° B. 95° C. 105° D. 120°
Aws 2,3,5,2,5,7,5,4,5,5,6,5,4,1,5 H 5 &I IrEvamar g
The frequency of 5 in data 2,3,5,2,5,7,5,4,5,5,6,5,4,1,5 is
A 7 B. 5 C. 4 D. 3
T e AT 100 I STTAT 9T I 60 F1 ITH gral g , AT = i Jrrrewar g

A coin is tossed 100 times and the tails are obtained 60 times, then probability of head is —
A. 60/100 B. 40/100 C. 100/100 D. 98 ¥ &I Aal
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Answer Key

Ans

Q. NO.

31

32

33

34

35

36

37

38

39

40

Ans

Q. NO.

21

22

23

24

25

26

27

28

29

30

Ans

Q. NO.

11

12

13

14

15

16

17

18

19

20

Ans

Q. NO.

10
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